

LATHLAIN PRIMARY SCHOOL YEAR 4 2019 REQUIREMENTS



Return list to School by 26th October 2018

- For Home or Business delivery.
- Please tick the items you are purchasing. Please also put a line through items you do not need.
- Complete postal address details and credit card information.
- Payment will be processed at a later date.
- No cash accepted at the school.

OR

Order online by the 2nd November 2018

- Website: booklists.ziggies.net.au
- Your school code is LAT. Select Year 4, your password is ZZY043
- Credit card payments only accepted

Deliveries

- All deliveries incur a postage fee of \$6.00 per child or \$10.00 per family.
- If paying family postage, please select delivery per family option on first child's order.
- Tick "additional child" on all other family orders.
- Home or Business deliveries are acceptable.
- If using a Business, please include Business name.
- All deliveries must be signed for.
- Deliveries will be through Australia Post, via tracking number. An email will be sent with this information.

LATE ORDERS (after 2nd November 2018):

- Will incur a late postage and handling fee of \$8.00 per child or \$12.00 per family.
- Delivery before the start of school CANNOT be guaranteed
- Please order before the cut-off date of 2nd November 2018 to ensure delivery before the start of school.

MISSING ITEMS:

- If you have any items missing from your pack and are not listed as back order, please notify us within 7 days. Any claims after this date will not be accepted
- Email: enquiries@ziggies.net.au

REFUNDS:

- Refunds will be granted for items on your list that are perfect condition up until the 17th February 2019 or 14 days from date of purchase (whichever is the later date)
- Perfect condition means still wrapped in packaging, no names on items, no bent corners, no covering, no codes scratched off.
- NO REFUNDS WILL BE ISSUED FOR ITEMS MARKED WITH A #, THESE ITEMS ARE FIRM SALE.
- Receipt must be produced for a refund.

No School or store collection available

Participating in this program supports your School.

ZIGGIES EDUCATIONAL SUPPLIES

1/180 Bannister Rd Canning Vale WA 6155

Shop 31, 57 Joondalup Drive (off George Grey Place) Joondalup WA 6027

Web: booklists.ziggies.net.au

Email: enquiries@ziggies.net.au Phone: 9455 3717



SELF SERVICE:

Trading hours:	Mon – Fri Sat	9:00am – 5:00pm 9:00am – 1:00pm	Hov of y und
Extended hours:	Sat 2 nd Feb Sun 3 rd Feb Mon 4 th Feb Tues 5 th Feb Closed all publi	9:00am – 3:00pm 11:00am – 4:00pm 8:00am – 6:00pm 9:00am – 6:00pm c holidays	nun Ple EX ^T arra
Visit us at:	1/180 Bannister Canning Vale W enquiries@ziggie 9455 3717	A 6155	
	Shop 31, 57 Joondalup Drive (off George Grey Place Joondalup WA 6027 northstore@ziggies.net.au		

How to shop: The bin locations listed on the left hand side of your requirements list correspond to the numbers on tags underneath each item in store. These numbers run in numerical order.

Please note that the last two weeks of January are EXTREMELY busy in store. We encourage you to arrange your orders as soon as you can.

Please cut along this line and retain this slip as a reminder

PARENTS TO SUPPLY: 2x Boxes of Tissues 2x Rolls of Paper Towels	ZIGGIES EDUCATIONAL SUPPLIES 1/180 Bannister Rd Canning Vale WA 6155
1x Art Shirt 1x Library Bag	Web:booklists.ziggies.net.auEmail:enquiries@ziggies.net.auPhone:9455 3717
	LATHLAIN PRIMARY SCHOOL YEAR 4

LATHLAIN PRIMARY SCHOOL YEAR 4 2019

Student Name: _____ Parent Name: _____

Parent Contact #: _____ Email Contact: _____

PLEASE TICK THE ITEMS YOU WISH TO PURCHASE

Delivery Address: _____

BIN LOC	ITEM	NOTES	\checkmark	QTY	PRICE EA	TOTAL
PERSON	AL ITEMS FOR STUDENT USE					
0057	Calculator Pocket Dual Power			1	\$10.95	\$10.95
0069	Clipfolder A4 PVC Black			1	\$3.75	\$3.75
0074	Compass Micador 325			1	\$1.35	\$1.35
0099	Diary Student Dated 2019 #			1	\$1.95	\$1.95
0109	Display Book A4 20 Inserts Black			2	\$1.85	\$3.70
0129	Display Book A4 40 Inserts Blue			2	\$4.55	\$9.10
0140	Dividers A4 Cardboard 5 Tab Coloured Marbig Bright			2	\$1.25	\$2.50
0171	Document Wallet Plastic Yellow			3	\$2.20	\$6.60
0179	Eraser Large Vinyl			4	\$0.45	\$1.80
0233	Glue PVA UHU Kids 250ml #			1	\$5.40	\$5.40
0235	Glue Stick Artline 40g Purple #			3	\$2.50	\$7.50
0249	Headphones Multimedia Verbatim With Volume Control			1	\$11.70	\$11.70
0257	Highlighter Maped Green #			1	\$1.35	\$1.35
0258	Highlighter Maped Orange #			1	\$1.35	\$1.35
0260	Highlighter Maped Yellow #			1	\$1.35	\$1.35
0266	Lever Arch File A4 PE Black			1	\$6.10	\$6.10
0278	Marker Artline 70 Black #			1	\$3.40	\$3.40
0316	Marker Project Texta 12 #			1	\$2.40	\$2.40
0390	Pen Fineliner Artline Supreme 0.4mm Black #			3	\$2.50	\$7.50
0403	Pencil Case Zip Top Micador 235x130mm	(No Larger)		1	\$2.20	\$2.20
0405	Pencil Coloured Columbia 12			1	\$2.75	\$2.75
0447	Pencil Sharpener Double Hole Barrel			1	\$0.85	\$0.85
0460	Pencil Standard HB Columbia Copperplate			24	\$0.45	\$10.80
0461	Pencil Standard Red Check			4	\$0.50	\$2.00
0490	Protractor Celco 10cm 180 Degrees			1	\$0.55	\$0.55
0499	Ruler Wooden 30cm			1	\$0.65	\$0.65
0503	Scissors Maped School 130mm			1	\$1.75	\$1.75
	If your child is left handed, please select the scissors below					
0507	Scissors Micador 130mm Left Handed Green Handle			0		\$0.00
0526	Sheet Protectors A4 Pack 10			5	\$1.20	\$6.00
0555	Whiteboard Magnetic Quartet 2 Sided 200x300mm			1	\$8.95	\$8.95
1078	Marker Whiteboard Faber Bullet Fine Assorted Colours Pack 4 #			1	\$8.95	\$8.95
1139	USB Thumbdrive Verbatim Slider 8GB #			1	\$9.90	\$9.90
STUDENT	RESOURCE BOOK					
С	Student Workbooks Levy (supplied at school 2019)			1	\$35.00	\$35.00
	SUBTOTAL		÷	-		\$180.10
PLEASE	TICK IF <u>ALL ABOVE</u> ITEMS TO BE PURCHASED					
VOLUNTA	ARY SCHOOL CONTRIBUTIONS					
С	Voluntary School Contribution Per Child			1	\$60.00	\$60.00
	ONS/INCURSIONS					
С	Bulk Payment Semester 1			1	\$30.00	\$30.00
VOLUNTA	/OLUNTARY P&C CHARGES (ONLY TICK ONE BOX) (ONLY TICK ONE BOX)				BOX)	
С	Voluntary P&C Contribution Per Child			1	\$30.00	\$30.00
	OR					
С	P&C Contribution Per Family (3 or more children)			1	\$70.00	\$70.00

CONTINUED ON NEXT PAGE

LATHLAIN PRIMARY SCHOOL YEAR 4 2019

BIN LOC	ITEM	NOTES	\checkmark	QTY PRICE EA	TOTAL
POSTAGE					
Postage Per Child				\$6.00	\$6.00
OR					
Postage Per Family	(Please tick on ELDEST child's list)			\$10.00	\$10.00
			C	GRAND TOTAL \$;
	(Please tick on ELDEST child's list)				

← PLEASE SEE PREVIOUS PAGE FOR PARENTS TO SUPPLY

2019 PERSONAL ITEMS LIST - PAYMENT DETAILS - ZIGGIES EDUCATIONAL SUPPLIES					
If pre-paying by credit card, please fill out the information below:					
Card Type:	□ Mastercard	□ Visa	(American Express is not accepted)		
Card Number:	/	/	Expiry: /		
Cardholder's Name: Signature:					